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FLLt - =X 1 76, 149, 788
LT = 1 13, 086, 697
PEHI T (ICT) =Y 1 5,607, 000 |4HHI(ICT) 18, 000 m3
W A7 vy b BEESE L 10, 000m3 LA 50, 000m
AT ;
%+ (1CT) = 1 5,624, 185 | & (E42) BE 1 (ICT) 9, 100 m3
b 10, 130 m3
+w (72) ;
BT T (ICT) = 1 936, 300 | {EMEFETE (8] 136) (ICT) 370 m2
VY = W R OWhE = CREE L
BRI (B 1356) (ICT) 1,070 m2
EmEAEE O L
P v T = 1 919, 212 | 1, 400 m3
B2 A couE
b E 1,390 m3
+w (72) ;
LR L 2 1 38, 510, 390
e+ T 2 1 1,691,320 |FRIEY 1 X
+4)
HEL 1 2V
FLE e 1 =
ayy)=b7" my) T (RE77 1y 3E) = 1 21,189, 580 | B 4T Heqsav -} 186 m
18-8-40 (B JF) JEEHE 49cm B S 50cm ;
BFT/ A akay ) -} 30 m3
18-8-40 (B 47) JEEHE 30cm FE 50cm ;
&7 ny 5k 598 m2
150kg/fE AT 752 350mm JBI(7° ARG R
C-40 18-8-40 (Fi4F) WEAY—ME ;
H Hx 25 m2
JESFHE B HikRk t =10 ;
BB RKimay)) b 18 m3
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K E&E)
FRsAE20em 2v7)-MNE20cm ;
e EMZAR 42 m2
(Efk i n)
YL ay))-MNE10em 2v7)-MNE40cm ;
(TRuEMZE R 5 m3
2/))-}E35cm ;
fiA T 2 1 1,865,790 |3EZ 470 m2
EZ T 300m2LL -500m23 ;
ANTHEZ 1, 200 m2
774+ & BE100cm ;
B E T = 1 13, 821, 640
e+ T 2 1 109, 669 | FRYE Y 1 X
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— R
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KT h-Ftk Z55)
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TA7 7 M2 T = 1 98,154 | /& (FiE « BIFER) 18 m2
FAEERLET ATy (13) %R 70mm (FH)) 1.4
mPh 3. 0mELF
g REER) 18 m2
FAEERLET ATy (13) %R 70mm (FH)) 1.4
mlh ko
YL 2 1 2,358, 448 | #iRaT WA K Oy b A TR 2 & P
(HRER)
Hoka" AR R Oy b A 7vh-2 1 2 & P
(G REE)
HE 2 L = 1 1,260, 106 | 82" AR o 12.2 m
a7 07y 24/ INX 20 ;
i53i0) 0.07 t
GE L#%H)
SD345 D16~25 ;
Mg T = 1 347,064 | GETFTHIE 26 m
W600 X H300 ;
Fa T Rh 7K T = 1 182, 888 | & HEIBS /K 35 m2
v=MBhK
HEAKEEE T = 1 188,762 |HEKE 10 m
VP40 ;
W22 a1 = 1 1,284,120 |#&%:H &M 27 m
ERRL R EA G )
T FTHERE T (&4 BT =X 1 2,681,901 |/|NElHERE 24 m3
0.8mPk 1. omPA T 18-8-40 (k) ;
TR s (BE - BRI 45 m2
FEITyYr77 RC-40 A VW E 150mm ;
T B GRIE ) 23 m2
FEITyYr77 RC-40 A VW E 150mm ;
g (I - BIF ) 47 m2
TR EET A2y (20) 4#2EE 50mm 3. Omtd ;
EEACSERD) 23 m2
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R T = 1 2,866, 518
TA7 7 M2 T = 1 2,866,518 | FIE&M (HIiE - BEE) 978 m2
BAI7yv47/ RC-40 {1 EVJE 150mm ;
g (I - BIF ) 978 m2
FAEBRIEET A2/ (20) AHMEE 50mm 3. OmiR ;
HEE L = 1 6, 303, 892
B M2 T =W 1 635,004 | P (0 = V-n) 88 m
Gr—C—4E ;
BHAEMHRL S O =) L) 86 m
Gr—C-2B ;
B &M AT vy S 86 m
B 7E A e R
HEYHE L T = 1 3,236, 175 | av))-MsEw BuE L 252 m3
MRS BblE T
2y~ M B L 3 m3
ERApIEEY) FAE T ;
ERZE IR 1 2V
TAT 7 MEEERR 15emPL T
EhAE AR AR 510 m2
TAT 7 MHEERR SHEERRE 10 c m
EhAE AR AR 440 m2
TA77VMERZEIR Bf2ERRIE 5 cm ;
ERRALS |k & 176 ¥
T8 513k 6m ;
TR AL T = 1 2,432,713 | Z%iEHW 252 m3
/)= (AT
DO 3 m3
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Bl AR S 2.82 t
[ AT
Bl AR S 33. 45 t
BhsAMILRE 7 ny )
Bl AR S 67. 58 t
N
% T = 1 1, 560, 651
[ BBt 3R T 2 1 471,951 | pA¥¥eiEHh 1 X
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b E 1,130 m3
+w (72) ;
BT T (ICT) = 1 333,232 |{EMmEETE (L) (ICT) 590 m2
EikE O L ;
fiA T 2 1 421,673 | NLiEZ 590 m2
774F WE100cm ;
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sty (R L) 2V 1 6, 434, 000
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T AT 2V 1 116, 914, 556
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